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TNPSC COMBINED STATISTICAL SUBORDINATE SERVICE IN  
EXAMINATION – 11/01/2022 

 
1. Who designed The National Flag of India? 

a. Udaya Kumar Dharmalingam b. Venkata Subba Rao 
c. Pingali Venkayya   d. Rabindranath Tagore 
e. Answer not known 
,e;jpahtpd; Njrpaf; nfhbia gpd;tUtdtw;wpy; ahh; tbtikj;jJ? 
a. cja Fkhh; jh;kypq;fk;   b. ntq;fl Rg;guht; 
c. gpq;fhyp ntq;ifah    d. ugpe;jpuehj; jh$h; 

e. tpil njhpatpy;iy 
 

2. Ayshman Bharat Scheme Govt. of India was launched on 
a. 2017   b. 2018  c. 2019  d. 2020 
e. Answer not known 
,e;jpa muR MA~;khd; ghuj; jpl;lj;ij vg;NghJ njhlq;fpaJ? 

a. 2017 b. 2018 c. 2019 d. 2020 e. tpil njhpatpy;iy 
 

3. Which constitutional Amendment reduced the age of right to vote from 21 
years to 18 years? 
a. 52nd Constitutional Amendment   
b. 61st Constitutional Amendment 
c. 75th Constitutional Amendment 
d. 86th Constitutional Amendment 
e. Answer not known 
ve;j murpayikg;Gr; rl;lj;jpd; gb thf;Fhpik taij 21 ypUe;J 18 
tajhf Fiwj;jJ? 
a. 52 tJ murpayikg;Gr; rl;lk; b. 61 tJ murpayikg;Gr; rl;lk; 
c. 75 tJ murpayikg;Gr; rl;lk; d. 86 tJ murpayikg;Gr; rl;lk; 
e. tpil njhpatpy;iy 
 

4. Article 200 explains about 
a. Parliament entitled to legislate laws in State List 
b. Governor reserves a Bill for the assent of the President  
c. Power of the High Court Chief Judge 
d. Power of the Speaker of Lok Sabha 
e. Answer not known 
tpjp 200 tpsf;FtJ 
a. khepy gl;baypy; ghuhSkd;wk; rl;lk; ,aw;Wjy; 
b. MSeh; kNrhjhit FbauRj; jiythpd; xg;GjYf;fhf itj;Jf; 

nfhs;sy; 
c. cah; ePjpkd;w jiyik ePjpgjp mjpfhuk; 
d. kf;fsit rgh ehafhpd; mjpfhuk; 
e. tpil njhpatpy;iy 
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5. Amrita Bazar became an English language news paper in the year 

a. 1868   b. 1872  c. 1878  d. 1881 
e. Answer not known 
mk;hpjh gh[hh; gj;jphpf;if ____ Mz;L Mq;fpy gj;jphpf;ifahdJ. 
a. 1868 b. 1872 c. 1878 d. 1881 e. tpil njhpatpy;iy 
 

6. In the 1937 election, Muslim league secured _______ percentage of the total 
Muslim votes. 
a. 3.5   b. 3.8   c. 4.3   d. 4.8 

e. Answer not known 
1937-k; Mz;L Njh;jypy; K];yPk; yPf; ngw;w K];yPk; thf;Ffspd; nkhj;j 
thf;F rjtPjk;  
a. 3.5  b. 3.8  c. 4.3  d. 4.8  e. tpil njhpatpy;iy 
 

7. Who is the Gnanaguru of Bharathiar 
a. Thillagar  b. Nivethitha  c. Shelly  d. Gandhi 
e. Answer not known 
ghujpahh; ahiu jd; QhdFUthf Vw;Wf; nfhz;lhh; 
a. jpyfh;  b. epNtjpjh  c. n~y;yp  d. fhe;jp 
e. tpil njhpatpy;iy 
 

8. In Sangam Society the term „Ambanam‟ was used for 
a. To measure the liquid   b. To measure the paddy 
c. Name of the village officer  d. Military camp 
e. Answer not known 
rq;f fhy r%fj;jpy; „mk;gzk;‟ vd;w nrhy; vij Fwpg;gjhf mikfpd;wJ? 
a. vz;nza; msitf; Fwpf;Fk; nrhy; 
b. ney; msitia Fwpg;gJ 
c. fpuhk eph;thf mjpfhhpapd; ngah; 
d. gil epiyia Fwpf;Fk; nrhy; 
e. tpil njhpatpy;iy 
 

9. Which among the following is the functions of Directorate of Public Health 
and Preventive Medicine? 

I. Prevention of Food Adulteration 
II. Registration of Birth and Death 
III. Immunization 
IV. Promotion of Industrial Hygiene and Health 
a. III and IV only    b. I and III only  
c. I, II and III only    d. I, II, III and IV 

e. Answer not known 
gpd;tUtdtw;Ws; nghJ Rfhjhu kw;Wk; jLg;G kUe;J ,af;Feufj;jpd; 
nray;ghLfs; vJ? 
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I. czTf; fyg;gl jLg;G 
II. gpwg;G kw;Wk; ,wg;ig gjpT nra;tJ 
III. Neha; jLg;G 
IV. njhopy;Jiw J}a;ik kw;Wk; Rfhjhu Nkk;ghL 

a. III kw;Wk; IV kl;Lk;    b. I kw;Wk; III kl;Lk; 
c. I, II  kw;Wk; III kl;Lk;    d. I, II, III kw;Wk; IV 
e. tpil njhpatpy;iy 
 

10. What will be the next term in BDF, CFI, DHL,… ? 
a. CJM   b. EIM  c. EJO  d. EMI 
e. Answer not known 
BDF, CFI, DHL, ….vd;w njhlhpy; mLj;j cWg;G ahJ? 

a. CJM b. EJM c. EJO d. EMI e. tpil njhpatpy;iy 
 

11. How many different towers of 4 blocks can be built using 2 red and 2 blue 
blocks kept one over the other? 
a. 4  b. 2  c. 8  d. 6  e. Answer not known 
,U rpfg;G kw;Wk; ,U ePy fl;lq;fs; ,Uf;fpd;wd. ,e;j ehd;F 
fl;lq;fisAk; xd;wd;Nky; xd;whf mLf;fpdhy; vj;jid tpj NfhGuq;fs; 
mikf;fyhk;? 
a. 4  b. 2  c. 8  d. 6  e. tpil njhpatpy;iy 
 

12. When a number is decreased by 25% it becomes 120. Find the number. 
a. 180  b. 170  c. 160  d. 150 e. Answer not known 
Xh; vz;zpd; kjpg;ig 25% Fiwj;jhy; 120 fpilf;fpwJ vdpy;> me;j 
vz;izf; fhz;f. 

a. 180  b. 170  c. 160  d. 150 e. tpil njhpatpy;iy 
 

13. In a school of 1,400 students there are 420 girls. Find the percentage of boys 
in the school? 
a. 30%  b. 70% c. 50% d. 80% e. Answer not known 
xU gs;spapy; cs;s 1400 khzth;fspy;> 420 Ngh; khztpfs;> gs;spapy; 
cs;s khzth;fspd; rjtPjk; fhz;f. 

a. 30% b. 70% c. 50% d. 80% e. tpil njhpatpy;iy 
 

14. Name the Nobel laureate present in the Five member Economic Advisory 
Council (EAC) to Chief Minister of Tamil Nadu 
a. Prof. Santha   b. Prof. Esther Duflo  c. Prof. Victoria  
d. Prof. Shirley  e. Answer not known 
jkpof Kjyikr;rUf;F Ie;J cWg;gpdh;fs; nfhz;l nghUshjhu 
MNyhridf; FOtpy; (EAC) ,lk; ngw;Ws;s Nehgy; ghpR ngw;wth; ahh;? 
a. Nguhrphpah; re;jh     b. Nguhrphpah; v];jh; L/g;Nyh 
c. Nguhrphpah; tpf;Nlhhpah    d. Nguhrphpah; n~h;yp 
e. tpil njhpatpy;iy 
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15. Rabindranath Tagore was awarded Noble Prize for literature in the year 
a. 1903   b. 1907  c. 1911  d. 1913 

e. Answer not known 
ugpe;jpuehj; jh$Uf;F ,yf;fpaj;jpw;fhd Nehgy; ghpR toq;fg;gl;l Mz;L 
a. 1903   b. 1907  c. 1911  d. 1913 
e. tpil njhpatpy;iy 
 

16. Mohenjadaro is situated in the district of  
a. Punjab  b. Larkhana c. Bavalpur  d. Gujarat 
e. Answer not known 
nkhfQ;rjhNuh ve;j khtl;lj;jpy; cs;sJ? 
a. gQ;rhg;  b. yh;f;fhdh  c. ghty;G+h;  d. F[uhj; 

e. tpil njhpatpy;iy 
 

17. Which of the following anti-corruption bodies were established by 
Santhanam Committee recommendation? 

1. Central Vigilance Commission 
2. Central Bureau of Investigation 
3. Lokpal and Lokayuktha 
4. State Information Commission 
    a. 1 and 3  b. 2 and 4  c. 1 and 2  d. 3 and 4 
    e. Answer not known 
gpd;tUk; Coy; jLg;G mikg;Gfspy; re;jhdk; FO ghpe;Jiuahy; 
epWtg;gl;lit ahit? 
1. kj;jpa Coy; jLg;G Mizak; 
2. kj;jpa tprhuiz Mizak; 
3. Nyhf;ghy; kw;Wk; NyhfhAf;jh 
4. khepy jfty; Mizak; 
a. 1 kw;Wk; 3  b. 2 kw;Wk; 4   c. 1 kw;Wk; 2 
c. 3 kw;Wk; 4  e. tpil njhpatpy;iy 

 
18. Which of the following is not a measure to control inflation adopted by the 

government (or) RBI? 
a. Monetary Policy    b. Fiscal Policy 
c. Financial inclusion   d. Price control 
e. Answer not known 
fPNo jug;gl;Ls;stw;wpy; vJ murhq;fk; kw;Wk; ika tq;fpahy; gztPf;fj;ij 
Neubahf fl;Lg;gLj;Jk; eltbf;if ,y;iy 
a. gztpay; nfhs;if    b. epjpapay; nfhs;if 
c. cs;slf;f epjpak;     d. tpiy fl;Lg;ghL 
e. tpil njhpatpy;iy 

 
19. The Government of India announced a New Industrial policy on 

a. July 24, 1991    b. July 24, 2001   
c. August 24, 1991   d. August 24, 2001 
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e. Answer not known 
,e;jpa muR Gjpa njhopy; nfhs;ifia mwptpj;j ehs; 
a. [_iy 24> 1991    b. [_iy 24> 2001 
c. Mf];l; 24> 1991    d. Mf];l; 24> 2001 
e. tpil njhpatpy;iy 

 
20. “Call that a gift to needy men thou dost dispense, 

All else is void of good, seeking for recompense.” 
The meaning of “seeking for recompense” according to Thiruvalluvar is 
a. To pity poor people 
b. To follow virtuous path 
c. To return the measured goods borrowed from neighbours 
d. Feeling of greatness 
e. Answer not known 
twpahh;f;nfhd;W <tNj <ifkw; nwy;yhk; 
Fwpnajph;g;ig ePu Jilj;J. 
,f;Fwl;ghtpy; “Fwpnajph;g;ig” vd jpUts;Sth; ciug;gJ 

a. Viofsplk; ,uf;fk; nfhs;Sjy; 
b. mwtop elj;jy; 
c. mz;il tPl;lhhplk; msT Fwpj;J thq;fpa nghUisj; jpUk;gf; 

nfhLj;jy;. 
d. ngUik nfhs;Sjy; 
e. tpil njhpatpy;iy 

 
21. Who is the founder of “Koothupattarai Nadaga Iyakam”? 

a. N. Muthusamy   b. Indira Parthasarathy 
c. Sahul Hameed   d. M. Ramasamy 
e. Answer not known 
$j;Jg;gl;liw ehlf ,af;fj;ij cUthf;fpath; ahh;? 
a. e. Kj;Jrhkp  b. ,e;jpuh ghh;j;jrhujp  d. rhFy; `kPJ 
d. K. ,uhkrhkp  e. tpil njhpatpy;iy 
 

22. Consider the following statement: 
1. In Amrut scheme old cities are included for development 
2. Tourist spot are included in Amrut scheme 
3. All states capital are included in Amrut scheme 
4. Water supply is not included in Amrut scheme 
Among these, which are correct answer : 
a. 1 and 3  b. 2 and 3  c. 1 and 2  d. 3 and 4 
e. Answer not known 
gpd;tUk; $w;iw ftdp 
1. mk;Uj; jpl;lj;jpy; gok;ngUk; efuq;fs; Nrh;f;fg;gl;Ls;sJ 
2. Rw;Wyhg; gFjpfs; mk;Uj; jpl;lj;jpy; Nrh;f;fg;gl;Ls;sJ 
3. vy;yh khepyq;fspd; jiyefuk; ,e;j jpl;lj;jpy; Nrh;f;fg;gl;Ls;sJ. 
4. ePh; toq;fy; mk;Uj; jpl;lj;jpy; Nrh;f;fg;gltpy;iy 
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NkNy fz;ltw;wpy; vJ rhpahd tpil 
a. 1 kw;Wk; 3  b. 2 kw;Wk; 3   c. 1 kw;Wk; 2 
d. 3 kw;Wk; 4  e. tpil njhpatpy;iy 

 
23. How many terms of the series 1+4+16+…. make the sum 1365? 

a. 4  b. 6  c. 8  d. 16  e. Answer not known 
1 + 4 + 16 + … vd;w njhlhpd; vj;jid cWg;Gfisf; $l;bdhy; $Ljy; 
1365 fpilf;Fk;? 
a. 4  b. 6  c. 8  d. 16  e. tpil njhpatpy;iy 

 
24. A group of letters are given A numerical code has been given to each letter. 

These letters have to be unscrambled into a meaningful word. Find out the 
code for the word so formed from the answers given 

L I N C P E 
1 2 3 4 5 6 

     a. 234156  b. 563421  c. 613524  d. 421356 
e. Answer not known 
fPNo vOj;Jfspd; njhFg;G xd;W nfhLf;fg;gl;Ls;sJ. xt;nthU vOj;Jf;Fk; 
jdpj;jdpNa vz; FwpaPL toq;fg;gl;Ls;sJ. ,j;njhFg;G vOj;Jfis 
,lk;ngah;j;J khw;wpaikj;jhy; nghUSs;s thh;j;ijf; fpilf;Fk;. mjd;gb> 
Gjpjhff; fz;Lgpbj;j thh;j;ijf;fhd vz; FwpaPLfisf; fhz;f. 

L I N C P E 
1 2 3 4 5 6 

    a. 234156   b. 563421   c. 613524  d. 421356 
    e. tpil njhpatpy;iy 
 

25. An Alloy contains 26% of copper. What quantity of alloy is required to get 
260 g of copper? 
a. 740 g   b. 2060 g  c. 1000 g  d. 10,000 g 
e. Answer not known 
xU cNyhff; fyit 26% jhkpuj;ijf; nfhz;Ls;sJ. 260 fp. jhkpuj;ijg; 
ngw Njitahd cNyhff; fyitapd; msT 
a. 740 fp  b. 2060 fp  c. 1000 fp   d. 10>000 fp 
e. tpil njhpatpy;iy 
 

26. Match the Rajiv Gandhi Khel Rathna Awardees with their respective games: 
A. Shri Rohit Sharma  1. Para Athletics 
B. Shri T. Mariappan  2. Table Tennis 
C. Ms. Vinesh   3. Cricket 
D. Ms. Manika Badra  4. Wrestling 

 A B C D  
a. 3 1 2 4  
b.  1 4 2 3 
c. 3 1 4 2  
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d. 4 3 2 1 
e. Answer not known 
uh[Pt; fhe;jp Nfy; uj;dh tpUJ ngw;wth;fis mth;fspd; tpisahl;Lld;    
nghUj;Jf : 
A. jpU. Nuh`pj; rh;kh   1. ghuh mj;ybf;]; (jlfsk;) 
B. jpU. T. khhpag;gd;   2. Nlgpy; nld;dp]; 
C. jpUkjp (Ms) tpNd~;  3. fphpf;nfl; 
D. jpUkjp (Ms) khdpf;fh ghj;uh 4. ky;Aj;jk; 
 A B C D 
a. 3 1 2 4 
b. 1 4 2 3 
c. 3 1 4 2 
d. 4 3 2 1 
e. tpil njhpatpy;iy 

 
27. Under Maratha administration, the Panchayats were popularly called 

Panch-Parmeshwar and the Panchas were often called as 
a. Ma-Bap  b. Kulkarni  c. Potdar  d. Kotwal 
e. Answer not known 
kuhj;jpah;fspd; Ml;rpapy; gQ;rhaj;ij gQ;r guNk];th; vd;Wk; gQ;rh]; 
vd;gth;fis ,g;gbAk; mioj;jhh;fs; 
a. kh-ghg;   b. Fy;fh;dp    c. ghl;lh; 
d. Nfhj;thy;  e. tpil njhpatpy;iy  
 

28. Who erected non-ruted Iron Pillar in the Qutb Minar complex at Mehrauli? 
a. Samudra Gupta  b. Kumara Gupta I c. Chandra Gupta II 
d. Vishnu Gupta   e. Answer not known 
nk ;̀uhypapy; FJg;kpdhh; tshfj;jpy; cs;s JUg;gpbf;fhj ,Uk;Gj;J}iz 
mikj;jth; ahh;? 
a. rKj;jpu Fg;jh;     b. Kjyhk; Fkhu Fg;jh; 
c. ,uz;lhk; re;jpu Fg;jh;    d. tp~;Z Fg;jh; 
e. tpil njhpatpy;iy 
 

29. Who is the Chairman of G.S.T. Council? 
a. Home Minister  b. Prime Minister  c. President 
d. Finance Minister  e. Answer not known 
,e;jpahtpd; ruf;F kw;Wk; Nrit thp rigapd; jiyth; ahh;? 
a. cs;Jiw mikr;rh;    b. gpujkh; 
c. [dhjpgjp      d. epjp mikr;rh; 
e. tpil njhpatpy;iy 
 

30. Land Development Banks provide credit to farmers for 
a. Short term needs  b. Medium term needs  c. Long term needs 
d. Flood relief   e. Answer not known 



 

8 | P a g e  
 

epy ts tq;fp tptrhapfSf;F _____ fld;fis toq;FfpwJ. 
a. FWfpa fhy Njit    b. eLj;ju fhy Njit 
c. ePz;l fhy Njit     d. nts;s epthuzk; 
e. tpil njhpatpy;iy 
 

31. “A crow will conquer owl in broad daylight; 
The king that foes would crush, needs fitting time to fight‟ 
What is the main idea of this Thirukural? 
a. Importance of time b. Victory of crow c. Owl‟s failure 
d. Victory of kings  e. Answer not known 
“gfy; nty;Yk; $ifiaf; fhf;if ,fy;” nty;Yk; 
Nte;jh;f;F Ntz;Lk; nghOJ” – 
,f;Fws; czh;j;Jk; fUj;J ahJ? 
a. fhyj;jpd; Kf;fpaj;Jtk;    b. fhf;ifapd; ntw;wp 
c. $ifapd; Njhy;tp     d. Nte;jh;fspd; ntw;wp 
e. tpil njhpatpy;iy 
 

32. Rani bought 100 bananas at the rate of Rs. 320 and sold at the rate of Rs. 60 
per dozen. Find the profit or loss percentage. 

a.   
 

 
%  b. 87 ½ %  c. 87 ¼ %  d. 56 ¼ % 

e. Answer not known 
uhzp 100 thiog;goq;fis ₹ 320 f;F thq;fpdhs;> mjid xU l[d; ₹ 60 
f;F tpw;whs; vdpy;> mjd; ,yhgk; (m) el;lk; rjtPjk; fhz;f. 

a.   
 

 
%  b. 87 ½ %  c. 87 ¼ %  d. 56 ¼ % 

e. tpil njhpatpy;iy 
 

33. If additive inverse of a + b is a + b. Then what is the additive inverse of a? 
a. a   b. -b   c. b   d. a – b 
e. Answer not known 
a + b d; $l;ly; vjph;kiw a + b vdpy;  d; $l;ly; vjph;kiw vd;d? 
a. a  b. -b  c. b  d. a - b  e. tpil njhpatpy;iy 
 

34. Why the Neyveli Lignite Corporations was located at Neyveli? 
a. Plenty of water   b. Suitable climate 
c. Availability of lignite  d. Nearness to market 
e. Answer not known 
nea;Ntyp gOg;G epyf;fhpf; fofj;ij Vd; nea;Ntypapy; epWtpdh;? 
a. jhuhskhf ePh; fpilf;Fk; ,lk;  b. nghUj;jkhd fhy epiy 
c. gOg;G epyf;fhp fpilf;Fkplk;   d. re;ijf;F mUfhik 
e. tpil njhpatpy;iy 
 

35. Ramu and Somu bought two tables for Rs. 750 and Rs. 900 respectively. 
What is the ratio of the prices of tables bought by Somu and Ramu? 
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a. 6 : 5  b. 5 : 6  c. 2 : 3  d. 3 : 2 
e. Answer not known 
uhK kw;Wk; NrhK thq;fpa ,U Nkirfspd; tpiy KiwNa ₹ 750 kw;Wk; ₹ 
900 vdpy; NrhK kw;Wk; uhK thq;fpa Nkirfspd; tpiyia tpfpjj;jpy; 
$Wf. 
a. 6 : 5  b. 5 : 6  c. 2 : 3  d. 3 : 2 
e. tpil njhpatpy;iy 
 

36. Find the smallest number which is exactly divisible by all the numbers from 
1 to 9. 
a. 2510  b. 2520  c. 2530  d. 2540 
e. Answer not known 
1 ypUe;J 9 tiuapyhd midj;J vz;fshYk; tFgLk; kpfr;rpwpa vz;izf; 
fhz;f. 
a. 2510  b. 2520  c. 2530  d. 2540 
e. tpil njhpatpy;iy 
 

37. “In a domestic Government, unity and co-operation are essential requisites” 
– is a comment passed by 
a. Jawaharlal Nehru  b. Mahatma Gandhi c. Sardar Vallabhai Patel 
d. Indira Gandhi  e. Answer not known 
“Xh; cs;ehl;L murhq;fj;jpy; xw;WikAk;> xj;Jiog;Gk; mj;jpahtrpakhd 
,d;wpaikahjitfs;” – vd;W tpkh;rpj;J $wpath; 
a. [t`h;yhy; NeU    b. kfhj;kh fhe;jp   
c. rh;jhh; ty;ygha; gl;Nly;   d. ,e;jpuh fhe;jp 
e. tpil njhpatpy;iy 
 

38. “The Big Thoughts of little LUV” – Book was written by 
a. Gauri Khan  b. Arundhati Roy c. Karan Johar 
d. Vikas Khanna e. Answer not known 
“jp gpf; jhl;]; Mg; ypl;by; yt;” vd;w Gj;jfj;ij vOjpath; 
a. nfshp fhd;  b. mUe;jjp uha;   c. fuz; N[h`h; 
d. tpfh]; fz;zh e. tpil njhpatpy;iy 
 

39. Victoria Memorial Hall at Calcutta was constructed during the regime of 
a. Lord Ripon  b. Lord Elgin   c. Lord Curzon 

d. Lord Hardinge e. Answer not known 
fy;fj;jhtpy; cs;s tpf;Nlhhpah nkNkhhpay; `hy; ahh; Ml;rp fhyj;jpy; 
fl;lg;gl;lJ? 
a. hpg;gd; gpuG  b. vy;[pd; gpuG   c. fh;rd; gpuG 
d. `hh;bQ; gpuG e. tpil njhpatpy;iy 
 

40. Which one of the following is false with regard to the reign of Ahmad Shah? 
A. He transferred his capital from Gulbarga to Bidar 
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B. The rivalry between the Dakhin Party and foreign party became 
accentuated during his period 

C. He conquered warrangal on 1424-25 
D. He annexed the kingdom of Gujarat to his empire 
a. (A)  b. (B) and (C)  c. (D)  d. (A) and (B) 
e. Answer not known 
mfkJ ~htpd; Ml;rpapy; fPNo Fwpg;gpl;Ls;stw;wpy; vJ jtwhdJ? 
A. jiyefiu Fy;gh;f;fhtpypUe;J gplhUf;F khw;wpdhh;. 
B. mth; fhyj;jpy; lf;fpd; fl;rpf;Fk; ntspehl;L fl;rpf;Fk; Nkhjy; gw;wp 
Ngrg;gl;L te;jJ. 
C. 1424-25k; Mz;by; thuq;fy; vd;w ,lk; ifg;gw;wg;gl;lJ 
D. F[uhj; muir jd; NguuRld; ,izj;Jf; nfhz;lhh; 
a. (A)  b. (B) kw;Wk; (C)  c. (D)  d. (A) kw;Wk; (B) 
e. tpil njhpatpy;iy 
 

41. Which employment schemes is called as „Milestone‟ and hails it as the “best 
known” employment guarantee scheme by UNDP and its Human 
Development Report 2015. 
a. The Integrated Rural Development Programme. 
b. Mahatma Gandhi National Rural Employment Guarantee Scheme 
c. Prime Minister Rozgar Yojana 
d. The scheme of Training Rural youth for self-employment 
e. Answer not known 
ve;j Ntiy tha;g;G jpl;lk; mj;jifa jpl;lq;fspd; iky; fy; vdTk; 
Mfr;rpwe;j Ntiy tha;g;G cWjp jpl;lk; vdTk; If;fpa ehLfs; rigapd; 
kdpj Nkk;ghl;L 2015Mk; tUlj;jpa mwpf;ifapy; Fwpg;gplg;gl;Ls;sJ? 
a. xUq;fpize;j Cuf tsh;r;rpj; jpl;lk; 
b. kfhj;kh fhe;jp Njrpa Cuf Ntiytha;g;G cWjp jpl;lk; 
c. gpujk ke;jphp Ntiytha;g;G jpl;lk; 
d. fpuhkGw ,isQh;fSf;fhd Ra Ntiytha;g;G gapw;rp jpl;lk; 
e. tpil njhpatpy;iy 
 

42. Which one of the following leader not related to Dindugal League? 
I. Gopal Nayakkar 
II. Manaparai Lakshmi Nayakkar 
III. Deni Yadul Nayakkar 
IV. Singam Chetty 
a. II only  b. III only  c. II and III only  d. IV only 
e. Answer not known 
fPo;fz;lth;fspy; jpz;Lf;fy; $l;likg;ig rhuhjth; ahh;? 
I. Nfhghy; ehaf;fh; 
II. kzg;ghiw yl;Rkp ehaf;fh; 
III. jdp vJy; ehaf;fh; 
IV. rpq;fk; nrl;b 
a. II kl;Lk;  b. III kl;Lk;   c. II kw;Wk; III kl;Lk; 
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d. IV kl;Lk;  e. tpil njhpatpy;iy 
 

 
43. The Tamil Nadu Industrial Guidance and Export Promotion Bureau was set 

up by the Government of Tamil Nadu for 
a. Financial assistance to industry  b. For making industrial policy 
c. For attracting investment proposals  d. Assisting internal trade 
e. Answer not known 
____ jkpo;ehL njhopy; topfhl;Ljy; kw;Wk; Vw;Wkjp Nkk;ghl;L gzpafk;> 
jkpo;ehL murhy; mikf;fg;gl;lJ. 
a. njhopy;fSf;F epjp cjtp nra;a 
b. njhopy; nfhs;ifia cUthf;f 
c. KjyPl;L jpl;lq;fis ftu 
d. cs;ehl;L th;j;jfj;jpy; cjtp nra;a 
e. tpil njhpatpy;iy 
 

44. If the price of orid dhall after 20% increase is Rs. 96 per kg, find the original 
price of orid dhall per kg. 
a. Rs. 100   b. Rs. 80  c. Rs. 60  d. Rs. 50 
e. Answer not known 
20% tpiy cah;tpw;Fg; gpd; xU fpNyh cSj;jk; gUg;gpd; tpiy ₹ 96 
vdpy; mjd; mry; tpiy vd;d? 
a. Rs. 100   b. Rs. 80  c. Rs. 60  d. Rs. 50 
e. tpil njhpatpy;iy 
 

45. Find the C.I. on Rs. 15,625 at 8% p.a. for 3 years compounded annually 
a. Rs. 4,000  b. Rs. 4,028  c. Rs. 4,058  d. Rs. 4,050 
e. Answer not known 
₹ 15>625 f;F Mz;L tl;b 8% tPjk; vdpy; 3 Mz;LfSf;Ff; $l;L tl;b 
fhzTk; 
a. Rs. 4,000  b. Rs. 4,028  c. Rs. 4,058  d. Rs. 4,050 
e. tpil njhpatpy;iy 
 

46. LCM of 35a2c3b, 42a3cb2 and 30ac2b3 is 
a. 210a3c3b3  b. 7abc  c. 216a2c3b  d. 441a3c3b2 
e. Answer not known 
35a2c3b, 42a3cb2  kw;Wk; 30ac2b3 ,tw;wpd; kPr;rpW nghJ klq;F (kP.ngh.k) 
fhz;f. 
a. 210a3c3b3  b. 7abc  c. 216a2c3b  d. 441a3c3b2 
e. tpil njhpatpy;iy 
 

47. H.C.F of (x + y)2, (y + z)3, (z + x)4 is 
a. 1  b. x + y + z  c. (x + y + z)2  d. (x + y)2(y + z)3(z + x)4 
e. Answer not known 
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(x + y)2, (y + z)3, (z + x)4 d; kP.ngh.t 
a. 1  b. x + y + z  c. (x + y + z)2  d. (x + y)2(y + z)3(z + x)4 
e. tpil njhpatpy;iy 
 

48. The scientific name of asian elephant 
a. Elephas axis   b. Elephas radiata c. Elephas domesticus 
d. Elephas maximus  e. Answer not known 
Mrpa ahidapd; mwptpay; ngah; 
a. vyp/g]; Mrp];    b. vyp/g]; NubNal;lh 
c. vyp/g]; nlhk];bf];   d. vyp/g]; Nkf;]pk]; 
e. tpil njhpatpy;iy 
 

49. Who is the father of surgery in India? 
a. Charka  b. Sushruta c. Nagarjuna d. Vagbhatta 
e. Answer not known 
mWit rpfpr;irapd; je;ij vd miof;fg;gLk; ,e;jpa kUj;Jth; ahh;? 
a. rh;f;fh   b. R];Uj;jh   c. ehfhh;[_dh 
d. tfgf;jh  e. tpil njhpatpy;iy 
 

50. The coronation ceremony of Shivaji was held in 1674 in the fort of 
a. Raigarh  b. Kondana  c. Shivneri  d. Redfort 
e. Answer not known 
rpth[papd; Kb#l;L tpoh 1674-k; Mz;L eilngw;w Nfhl;il 
a. uha;fh;   b. nfhz;lhdh  c. rptNehp   
d. nrq;Nfhl;il  e. tpil njhpatpy;iy 
 

51. Jyeshtha Ashtami is celebrated in which state? 
a. Himachal Pradesh   b. Bihar 
c. Kashmir    d. Rajasthan 
e. Answer not known 
ve;j khepyj;jpy; n[a;jh m~;lkp nfhz;lhlg;gLfpwJ? 
a. `pkhr;ry; gpuNjrk;  b. gP̀ hh;    c. fh~;kPh;   
d. uh[];jhd;   e. tpil njhpatpy;iy 
 

52. The Drain Theory about poverty in India is associated with 
a. Mahatma Gandhi   b. Patel 
c. Nehru     d. Naoroji 

e. Answer not known 
,e;jpa tWikapy;> tbfhy; Nfhl;ghL ahUld; njhlh;G nfhz;lJ 
a. kfhj;kh fhe;jp   b. gl;Nly;    c. NeU 
d. nesNuh[p    e. tpil njhpatpy;iy 
 

53. SJSRY stands for 
a. Shahari Jeewan Sudhar Rashtriya Yojana 
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b. Swarna Jayanti Shahri Rozgar Yojana 
c. Sampoorna Jeewan Shahari Rozgar Yojana 
d. Swarna Jeewan Shahri Rozgar Yojana 
e. Answer not known 
SJSRY -d; tphpthf;fk; 
a. Shahari Jeewan Sudhar Rashtriya Yojana 
b. Swarna Jayanti Shahri Rozgar Yojana 
c. Sampoorna Jeewan Shahari Rozgar Yojana 
d. Swarna Jeewan Shahri Rozgar Yojana 
e. tpil njhpatpy;iy 
 

54. The main aim of self respect movement in TamilNadu was to 
a. Abolish untouchability  b. Encourage self respect marriages 
c. Abolish Devadasi system d. All the above 

e. Answer not known 
jkpo;ehl;by; Rakhpahij ,af;fj;jpd; Kf;fpa Nehf;fk; 
a. jPz;lhik xopj;jy;   b. Rakhpahij jpUkzj;ij Cf;Ftpj;jy; 
c. Njtjhrp Kiw xopj;jy;  d. Nkw;$wpa midj;Jk; 
e. tpil njhpatpy;iy 
 

55. Who implemented Poondi Drinking Water Reservoir? 
a. Kamaraj  b. Sathyamoorthy c. Rajagopalachari 
d. Annadurai  e. Answer not known 
G+z;b vd;Dkplj;jpy; xU FbePh;j;Njf;fj;ij fl;Ltjw;fhd jpl;lj;ij 
nray;gLj;jpath; ahh;? 
a. fhkuh[h;  b. rj;jpa %h;j;jp   c. ,uhrNfhghyhr;rhhp 
d. mz;zhJiu  e. tpil njhpatpy;iy 
 

56. Arikkamedu is located in 
a. Tirunelveli  b. Dindugal  c. Pondicherry 

d. Goa   e. Answer not known 
mhpf;fNkL mike;js;s ,lk; 
a. jpUney;Ntyp  b. jpz;Lf;fy;   c. ghz;br;Nrhp 
d. Nfhth   e. tpil njhpatpy;iy 
 

57. The third sangam at Madurai was founded by  
a. Ilamperuvazhuthi    b. Mudathirumaran 
c. Muthukkudumi Peruvazhuthi  d. Nedunchezhiyan 
e. Answer not known 
%d;whtJ rq;fj;ij kJiuapy; epWtpath; 
a. ,sk;ngUtOjp    b. Klj;jpUkhwd; 
c. KJf;FLkp ngUtOjp   d. neLQ;nropad; 
e. tpil njhpatpy;iy 
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58. Match the following 
City   Popular in 

A. Tirupur  1. Cloth market 
B. Karur   2. Gate way of Tamil Nādu 
C. Erode   3. International Leather Fair 
D. Chennai  4. Knitting city 
E. Thoothukudi 5. Home Textiles 

A B C D E  
a. 4 5 1 3 2  
b.  3 4 2 1 5 
c. 2 3 4 1 5  
d. 1 2 3 5 4 
e. Answer not known 

nghUj;Jf 
efuq;fs;    Gfo; ngw;wit 
A. jpUg;G+h;   1. Jzpr;re;ij 
B. f&h;    2. jkpofj;jpd; EioT thapy; 
C. <NuhL    3. rh;tNjr Njhy; fz;fhl;rp 
D. nrd;id   4. gpd;dyhil efuk; 
E. J}j;Jf;Fb   5. tPl;L [Tspfs; 

A B C D E  
a. 4 5 1 3 2  
b.  3 4 2 1 5 
c. 2 3 4 1 5  
d. 1 2 3 5 4 
e. tpil njhpatpy;iy 
 

59. The time taken for Rs. 4,400 to become Rs. 4,851 at 10% compounded half-
yearly is  
a. 6 months  b. 12 months  c. 18 months d. 24 months 
e. Answer not known 
10% Mz;L tl;bapy; miuahz;Lf;F xU Kiw tl;bf; fzf;fplg;gl;lhy; ₹ 
4>400 MdJ ₹ 4>851 Mf ____ MFk;. 
a. 6 khjq;fs;   b. 12 khjq;fs;   c. 18 khjq;fs;  
d. 24 khjq;fs;   e. tpil njhpatpy;iy 
 

60. Sathish Kumar borrowed Rs. 52,000 from a money lender at a particular rate 
of simple interest. After 4 years he paid Rs. 79,040 to settle his debt. At what 
rate of interest he borrowed the money? 
a. 13%  b. 11%  c. 12%  d. 10% 
e. Answer not known 
rjP~; Fkhh; vd;gth; xU Fwpg;gpl;l tl;b tPjj;jpy; &. 52>000 jdp tl;b 
Kiwapy; fld; thq;fp> 4 Mz;Lfs; fopj;J &. 79>040 jpUk;gp flidr; 
nrYj;jpdhy; mth; thq;fpa flDf;Fhpa tl;b tPjk; vt;tsT? 



 

15 | P a g e  
 

a. 13%  b. 11%  c. 12%  d. 10% 
e. tpil njhpatpy;iy 
 

61. Learned concept reproduced without any change is called 
a. Whole memory  b. Perfect memory c. Rote memory 

d. Long term memory e. Answer not known 
fw;w fUj;ij khw;wkpy;yhky; mg;gbNa jpUg;gpf; $WtJ 
a. KOikahd epidthw;wy;   b. rhpahd epidthw;wy; 
c. kdg;ghl epidthw;wy;    d. neLq;fhy epidthw;wy; 
e. tpil njhpatpy;iy 
 

62. The wings of the aeroplane was designed based on  
a. Torricelli‟s theorem  b. Euler‟s theorem 
c. Bernoulli’s theorem  d. Alembert‟s theorem 
e. Answer not known 
thd Ch;jpapd; ,wf;if ____ mbg;gilapy; mikf;fg;gl;Ls;sJ. 
a. lhh;hpnry;yp Njw;wk;   b. Ma;yh; Njw;wk; 
c. ngh;Ndhyp Njw;wk;    d. Myk;gh;l; Njw;wk; 
e. tpil njhpatpy;iy 
 

63. How is the hot wind of Western India called? 
a. Norwesters  b. Loo c. Mountain breeze d. Valley breeze 
e. Answer not known 
,e;jpahtpd; Nkw;F gFjpapy; tPRk; ntg;gf; fhw;W vt;thW miof;fg;gLfpwJ? 
a. ehh;nt];l;Nlh;];    b. Y}  
c. kiy fhw;W     d. gs;sj;jhf;F fhw;W 
e. tpil njhpatpy;iy 
 

64. Match List I with List II and write the correct answer : 
List I    List II 

A. Buddhamitra  1. Thirumandiram 
B. Amitasagaranar   2. Kalingattuparani 
C. Jayankondar  3. Virasoliyam 
D. Thirumular   4. Yapparumgalam 

A B C D   
a. 1 3 2 4   
b.  2 3 4 1  
c. 1 2 4 3   
d. 3 4 2 1  
e. Answer not known 

gl;bay; - I -I gl;bay; - II -cld; nghUj;jp rhpahd gjpiy vLj;J 
vOjTk;: 
 gl;bay I   gl;bay; II 
A. Gj;jkpj;jpuh;   1. jpUke;jpuk; 
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B. mkph;jrhfudhh;  2. fypq;fj;Jg;guzp 
C. n[aq;nfhz;lhh;  3. tPuNrhopak; 
D. jpU%yh;   4. ahg;gUq;fyk; 

A B C D   
a. 1 3 2 4   
b.  2 3 4 1  
c. 1 2 4 3   
d. 3 4 2 1 
e. tpil njhpatpy;iy 
 

65. The Ghadar Party was formed by Lala Har Dayal in the year 1913 in 
a. America  b. Russia  c. Japan  d. Germany 
e. Answer not known 
fjh; fl;rpia yhyh `h; jahy; 1913-y; ve;j ehl;by; njhlq;fp itj;jhh;? 
a. mnkhpf;fh  b. u~;ah  c. [g;ghd;  d. n[h;kdp 
e. tpil njhpatpy;iy  
 

66. Gurukula Ashram was run with the funds contributed by the congress party 
for promoting national unity at 
a. Serama Devi  b. Kanchipuram   c. Erode 
d. Chengalpattu  e. Answer not known 
Njrpa xw;Wikf;fhf fhq;fpu]; fl;rp mspj;j epjp cjtpapd; Nghpy; FUFy 
Mrpukk; nray;gl;l ,lk; 
a. Nrukh Njtp  b. fhQ;rpGuk;   c. <NuhL 
d. nrq;fy;gl;L  e. tpil njhpatpy;iy 
 

67. The Jammu and Kashmir reorganization Act, 2019 is enacted for the purpose 
of 

i. Creation of Union Territory of Ladakh; 
ii. Creation of Union Territory of Jammu and Kashmir; 
iii. Bifurcation of the State of Jammu and Kashmir; 
iv. Delimitation of Parliamentary Constituencies in Jammu and Kashmir; 

a. i only  b. iii only  c. i and ii only  d. iv only 
e. Answer not known 
[k;K-fh~;kPh; kWtiuaiwr; rl;lk; 2019 ve;j Nehf;fj;jpw;fhf 
epiwNtw;wg;gl;lJ 
(i) ylhf; gFjpia A+dpad; gpuNjrkhf;f 
(ii) [k;K-fh~;kPiu A+dpad; gpuNjrkhf;f 
(iii) [k;K-fh~;kPh; khepyj;ij ,uz;lhfg; gphpf;f 
(iv) [k;K-fh~;kPhpYs;s ghuhSkd;wj; njhFjpfis kW rPuikg;Gr; 

nra;a 
a. i kl;Lk;  b. iii kl;Lk;   c. i kw;Wk; ii kl;Lk; 
d. iv kl;Lk;  e. tpil njhpatpy;iy 
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68. Periyar Viyathulam Ilame; 
Siriyorai igalthal athaninum Ilame; 
What is the first line of this purananutru padal? 

a.  andu Pal vaka Naraiyila  aguthal 
b. Thenkadal V  lagam Podumai Indri 

c.  adum  re;  aavarum  elir 

d.  e yena irathal ilinthandru; Athan yethir 
e. Answer not known 
“nghpNahiu tpaj;jYk; ,yNk; 
rpwpNahiu ,fo;jy; mjdpDk; ,yNk”. – vd 
KbAk; GwehD}w;Wg; ghlypd; Kjy; mb vJ? 
a. ahz;L gythf eiuapy; MFjy; 
b. njz;fly; tshfk; nghJik ,d;wp 
c. ahJk; CNu; ahtUk; Nfsph;: 
d. <vd ,uj;jy; ,ope;jd;W; mjd; vjph; 
e. tpil njhpatpy;iy 
 

69. Match the following  
City     Industry 

A. Tiruchirappalli  1. Chemical Production 
B. Karur    2. SAIL 
C. Salem    3. BHEL 
D. Coimbatore   4. TNPL 
E. Thoothukudi  5. Wet Grinder 

A B C D E   
a. 3 4 1 5 2   
b.  3 5 4 2 1  
c. 2 3 4 5 1   
d. 3 4 2 5 1  
e. Answer not known 

nghUj;Jf: 
efuk;    njhopy; 
A. jpUr;rpuhg;gs;sp  1. ,urhad cw;gj;jp 
B f&h;    2. SAIL 
C. Nryk;    3. BHEL 
D. Nfhak;gj;J}h;  4. TNPL 
E. J}j;Jf;Fb   5. khT miuf;Fk; ,ae;jpuk; 

A B C D E   
a. 3 4 1 5 2   
b.  3 5 4 2 1  
c. 2 3 4 5 1   
d. 3 4 2 5 1  
e. tpil njhpatpy;iy 
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70. The radius of spherical balloon increases from 12 cm to 16 cm as air being 
pumped it. Find the ratio of the surface area of the balloons in the two cases. 
a. 9 : 16  b. 9 : 14  c. 9 : 13  d. 9 : 15 
e. Answer not known 
xU Nfhs tbt gY}dpy; fhw;W ce;jg;gLk; NghJ mjd; Muk; 12 nrk.kP -
ypUe;J 16 nr.kP Mf caUfpwJ. ,U Gwg;gug;Gfspd; tpfpjk; fhz;f. 
a. 9 : 16  b. 9 : 14  c. 9 : 13  d. 9 : 15 
e. tpil njhpatpy;iy 
 

71. Find the compound interest for the principal Rs. 4,000 at rate of interest 5% 
p.a. for 2 years, interest compounded annually. 
a. Rs. 400   b. Rs. 441  c. Rs. 440  d. Rs. 410 

e. Answer not known 
mry; ₹ 4>000 f;F Mz;L tl;b tPjk; r = 5% y; Mz;Lf;F xU Kiw tl;b 
fzf;fplg;gl;lhy; 2 Mz;Lfspy; fpilf;Fk; $l;L tl;biaf; fhz;f 
a. Rs. 400   b. Rs. 441  c. Rs. 440  d. Rs. 410 
e. tpil njhpatpy;iy 
 

72. The work done by the conservative force for a closed path is 
a. always negative  b. zero c. always positive d. not defined 
e. Answer not known 
%ba Rw;wpy; moptpy;yh tpirahy; nra;ag;gl;l Ntiy _____ MFk;. 
a. vg;nghOJk; vjph;kiw   b. Rop 
c. vg;NghJk; Neh;kiw   d. tiuaWf;fg;gltpy;iy 
e. tpil njhpatpy;iy 
 

73. Which one of the following is similar to earth with respect to size, mass and 
average density? 
a. Mercury  b. Venus  c. Mars  d. Saturn 
e. Answer not known 
fPo;f;fz;ltw;Ws; Gtpf;F rkkhd msT> ruhrhp mlh;j;jp kw;Wk; epiwia 
nfhz;Ls;s Nfhs; _____ MFk;. 
a. Gjd; fpufk;  b. nts;sp fpufk;   c. nrt;tha; fpufk; 
d. rdp fpufk;  e. tpil njhpatpy;iy 
 

74. Which one of the minerals is widely used in dying and printing? 
a. Nickel    b. Zinc  c. Lead nitrate  d. Manganese 
e. Answer not known 
gpd;tUtdtw;Ws; ve;jf; fdpkk; rhaNkw;Wjy; kw;Wk; mr;rpLjypy; gutyhfg; 
gad;gLfpwJ 
a. epf;fy;   b. Jj;jehfk;   c. <ak; iel;Nul; 
d. khq;fdPR  e. tpil njhpatpy;iy 
 

75. ________ stream disappear near Hanumangarh in Bikaner. 
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a. Vipasa  b. Chambal  c. Hakra  d. Kosi 
e. Answer not known 
_____ ejp gpfhdphpy; `Dkd;fhh;f; vd;w ,lj;jpw;F mUfpy; kiwfpwJ. 
a. tpghrh b. rhk;gy;  c. `f;uh  d. Nfhrp 
e. tpil njhpatpy;iy 
 

76. Which of the following is/are true regarding Directive principles of State 
Policy? 
i. Directive principles of state policy are enumerated in Part IV of the 

Indian Constitution. 
ii. Court can uphold the validity of a law on the ground that it was enacted 

to give effect to a Directive principle of state policy. 
a. i only  b. ii only  c. Both i and ii  d. All the above 
e. Answer not known 
fPo;fz;ltw;Ws; topfhl;L newpKiwf; Nfhl;ghLfs; gw;wp 
nrhy;yg;gl;litfSs; rhpahd $w;W vJ/vit? 
i. topfhl;L newpKiwf; Nfhl;ghLfs; ,e;jpa murikg;Gr; rl;lj;jpd; 

ehd;fhk; gFjpapy; (Part IV) Fwpg;gplg;gl;Ls;sJ. 
ii. topfhl;L newpKiwf; Nfhl;ghLfspd; kPJ ,aw;wg;gLk; rl;lq;fis 

ePjpkd;wk; jdJ mjpfhuj;jpd; %yk; fhytiuaWf;f KbAk;. 
a. i kl;Lk;    b. ii kl;Lk;  c. i kw;Wk; ii ,uz;Lk; 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

77. According to Article 359 
a. President has the power to suspend Fundamental Rights. 
b. Governor has the power to remove Chief Minister. 
c. Speaker of Lok Sabha has the power to dissolve Lok Sabha. 
d. Prime Minister has the power to remove Vice-President. 
e. Answer not known 
tpjp 359-d; gb 
a. FbauRj; jiyth; mbg;gil chpikfis uj;J nra;Ak; mjpfhuk; 

ngw;wth; 
b. MSeh; Kjyikr;riu ePf;Fk; mjpfhuk; ngw;wth; 
c. kf;fsit rghehafh; kf;fsitia fiyf;Fk; mjpfhuk; ngw;wth; 
d. gpujkke;jphp Jiz FbauRj; jiytiu ePf;Fk; mjpfhuk; ngw;wth; 
e. tpil njhpatpy;iy 
 

78. In which two years Subash Chandra Bose was elected as the president of the 
Indian National congress. 
a. 1938 and 1939 b. 1940 and 1941  c. 1942 and 1943 
d. 1944 and 1945 e. Answer not known 
Rgh~; re;jpu Ngh]; ,UKiw ,e;jpa Njrpa fhq;fpuRf;F jiytuhf 
Njh;e;njLf;fg;gl;l Mz;Lfs; 
a. 1938 kw;Wk; 1939  b. 1940 kw;Wk; 1941  c. 1942 kw;Wk; 1943 
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d. 1944 kw;Wk; 1945  e. tpil njhpatpy;iy 
 

79. Which of the following statements about the early years of the Indian 
National Congress is NOT TRUE? 
a. Indian National Congress was founded in 1885. 
b. Promotion of national unity was its major objective. 
c. It did discussed about social reforms. 
d. It strived to create a common political platform. 
e. Answer not known 
,e;jpa Njrpa fhq;fpu]pd; muk;g fhyj;ijg; gw;wpa gpd;tUk; $w;Wfspy; vJ 
rhpahdJ my;y? 
a. 1885y; ,e;jpa Njrpa fhq;fpu]; Jtq;fg;gl;lJ 
b. Njrpa xUikg;ghl;il tsh;g;gJ mjd; Kf;fpa nfhs;ifahFk; 
c. mJ rKjha rPh;jpUj;jq;fs; Fwpj;J tpthjpj;jJ 
d. mJ xU xUq;fpize;j murpay; fsk; cUthf;fg;ghLgl;lJ 
e. tpil njhpatpy;iy 
 

80. Who is the kodaiyezhu vallal referred to in this Siru Paanaatrupadai verse? 
“Muttathu kodutha munaivilangu thadakkai 
Thuli mazahai pozhiyum vali thunju nedunkottu 
Nalimalai Naadan ……….” 
(Provider of necessary items it rains regularly high mountain country 
leader…….) 
a. Paari   b. Kaari  c. Nalli  d. Aai 
e. Answer not known 
“Kl;lhJ nfhLj;j Kidtpsq;F jlf;ifj; 
Jspkio nghopAk; tspJQ;R neLq;Nfhl;L 
espkiy ehld; …. 
- ,r;rpWghzhw;Wg;gil ghly; thpfspy; ,lk;ngWk; filnaO ts;sy; ahh;? 
a. ghhp   b. fhhp  c. es;sp  d. Ma; 
e. tpil njhpatpy;iy 
 

81. In which city of TamilNadu is the World‟s biggest baggase based mill 
situated? 
a. Tirupur  b. Karur  c. Sivagasi  d. Coimbatore 
e. Answer not known 
jkpo; ehl;by; ve;j efuj;jpy; cyfpd; kpfg; nghpa fUk;Gr;rf;if 
mbg;gilapy; fhfpjj; jahhpg;G epWtdk; cs;sJ? 
a. jpUg;G+h;  b. f&h;  c. rptfhrp  d. Nfhak;Gj;J}h; 
e. tpil njhpatpy;iy 
 

82. Which of the following pair is correctly matched? 
a. Chennai - Auto component industries 
b. Erode  - Fire works 
c. Sivakasi - Poultry farms 
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d. Madurai - Leather 
e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j ,iz rhpahfg; nghUj;jg;gl;Ls;sJ? 
a. nrd;id  - thfd cjphp ghfq;fs; 
b. <NuhL   - gl;lhR 
c. rptfhrp  - Nfhopg; gz;izfs; 
d. kJiu   - Njhy; 
e. tpil njhpatpy;iy 
 

83. Fill in the blanks : 
If 5 persons can do 5 jobs in 5 days then 50 persons can do 50 jobs in ______ 
days. 
a. 5   b. 6   c. 50   d. 10 
e. Answer not known 
epug;Gf 
5 egh;fs; 5 Ntiyfis 5 ehs;fspy; nra;J Kbg;gh; vdpy;> 50 egh;fs; 50 
Ntiyfis ____ ehl;fspy; nra;J Kbg;gh;. 
a. 5   b. 6   c. 50   d. 10 
e. tpil njhpatpy;iy 
 

84. The base of the parallelogram is thrice its height, if the area is 192 sq.cm, 
find the base. 
a. 8 cm   b. 24 cm  c. 20 cm  d. 34 cm 
e. Answer not known 
Xh; ,izfuj;jpd; mbg;gf;fkhdJ mjd; cauj;ijg; Nghy %d;W 
klq;fhfTk; mjd; gug;gsT 192 r.nr.kP MfTk; ,Ug;gpd; mbg;gf;fj;ij 
fhz;f. 
a. 8 nr.kP.  b. 24 nr.kP.  c. 20 nr.kP  d. 34 nr.kP 
e. tpil njhpatpy;iy 
 

85. In Tamil Nadu, the heavy water projects is located at 
a. Narimanam  b. Kalpakkam c. Kayathar  d. Tuticorin 
e. Answer not known 
jkpo; ehl;by; fd ePh; jpl;lk; mike;Js;s ,lk; ________ MFk;. 
a. ehpkzk;  b. fy;ghf;fk; c. faj;jhW  d. J}j;Jf;Fb 
e. tpil njhpatpy;iy 
 

86. Which charge configuration produces a uniform electric field? 
a. Point charge     b. Uniformly charged infinite line 
c. Uniformly charged infinite plane d. Uniformly charged spherical shell 
e. Answer not known 
ve;j kpd;D}l;l epiyaikg;G rPuhd kpd;Gyj;ij cUthf;Fk;? 
a. Gs;sp kpd;D}l;lk;    
b. rPuhd kpd;D}l;lk; ngw;w Kbtpyh fk;gp 
c. rPuhd kpd;D}l;lk; ngw;w Kbtpyh rkjsk; 
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d. rPuhd kpd;D}l;lk; ngw;w Nfhsff; $L 
e. tpil njhpatpy;iy 
 

87. The original language of India is said precede Dravidian language is known 
as 
a. Thai language   b. Kulerian language  c. Chinese language 
d. Bengali   e. Answer not known 
,e;jpa nkhop Njhw;wj;jpy; jpuhtpl nkhopfspy; Ke;jpa nkhop 
a. jha; nkhop   b. nfhNyhpad; nkhop  c. irdp]; nkhop 
c. ngq;fhyp nkhop  e. tpil njhpatpy;iy 
 

88. India is a member of the Universal Postal Union since 
a. 1866   b. 1876  c. 1886  d. 1896 
e. Answer not known 
,e;jpah> cyf mstpy; jghy; mikg;gpy; vg;NghjpypUe;J cWg;gpduhf 
cs;sJ 
a. 1866   b. 1876  c. 1886  d. 1896 
e. tpil njhpatpy;iy 
 

89. The Central Bureau of Investigation (CBI) was created in 
a. April 1953  b. April 1963 c. April 1973 d. April 1969 
e. Answer not known 
kj;jpa Gydha;T nrayfk; vg;nghOJ Vw;gLj;jg;gl;lJ? 
a. Vg;uy; 1953  b. Vg;uy; 1963   c. Vg;uy; 1973  d. Vg;uy; 1969   
e. tpil njhpatpy;iy 
 

90. Assertion (A) : The Council of states is considered as a permanent House of  
the Parliament. 

Reason (R)     : The Members of the Council of states are representative of the  
                           states; not the people. 
a. (A) is false but (R) is true 
b. (A) is true but  (R) is false 
c. Both (A) and (R) are true and (R) is the correct explanation of (A) 
d. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A)  : ,e;jpa ghuhSkd;wj;jpd; epue;jur; rigahf khepyq;fsit  
           fUjg;gLfpwJ. 
fhuzk; (R) : khepyq;fsit cWg;gpdh;fs; khepyq;fspd; gpujpepjpfshf  
           ,Uf;fpwhh;fs;> kf;fspd; gpujpepjpfshf my;y. 
a. (A) jtW Mdhy; (R) cz;ik 
b. (A) cz;ik Mdhy; (R) jtW 
c. (A) kw;Wk; (R) ,uz;Lk; cz;ik> kw;Wk; (R) vd;gJ (A)-tpw;fhd rhpahd  
  tpsf;fk; 
d. (A) kw;Wk; (R) ,uz;Lk; cz;ik> Mdhy; (R) vd;gJ (A)-tpw;fhd rhpahd  
  tpsf;fky;y 
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e. tpil njhpatpy;iy 
 

91. The Royal Indian Navy Mutiny brokeout on 18-23 February 1946 at 
a. Bengal   b. Bombay  c. Cochin  d. Madras 
e. Answer not known 
gpg;uthp -y; Nte;jpa ,e;jpa flw;gil fyfk; elj;jg;gl;l ,lk; 
a. tq;fhsk;  b. gk;gha;  c. nfhr;rpd;  d. kjuh]; 
e. tpil njhpatpy;iy 
 

92. „Al Hilal‟, a weekly Urdu Journal was started by 
a. Maulana Abul Kalam   b. Mohammed Ali Jinnah 
c. Sir Syed Ahmed Khan   d. Yusuf Ali Khan 
e. Answer not known 
„Al Hilal‟ vd;w thuhe;jpu cUJ gj;jphpf;ifia njhlq;fpath; ahh;? 
a. nksyhdh mGy; fyhk;   b. KfkJ myp [pd;dh 
c. rh; iraj; mfkj; fhd;   d. A+Rg; myp fhd; 
e. tpil njhpatpy;iy 
 

93. “Found the skill of hands there and the power of foot here” – The meaning 
of this line in „Kambaramayanam‟. 
Breaking of Bow by Raman 
Liberating Agaligai from curse 
Killing of Thadagai 
Victory over Ravanan 
a. 1 only  b. 1, 2 only  c. 2, 4 only  d. 1, 2, 3 only 
e. Answer not known 
“if tz;zk; mq;F fz;Nld; fhy; tz;zk; ,q;F fz;Nld;” vd;w 
fk;guhkhazg; ghly; thp czh;j;Jk; nra;jp vd;d? 
1. ,uhkd; tpy;nyhbj;jJ 
2. mfypif rhg tpNkhrdk; ngw;wJ 
3. jhlifia tjk; Ghpe;jJ 
4. ,uhtzid ntd;wJ  
a. 1 kl;Lk; b. 1, 2 kl;Lk; c. 2, 4 kl;Lk; d. 1, 2, 3 kl;Lk; 
e. tpil njhpatpy;iy 
 

94. “Kallathin  tchum Suramenbar Kadalar 
Ullam Padarntha Neri” – These lines are from 
a. Kalavazhi N rpathu   b. Thirukkural 

c. Aynthinai Aymbathu   d.  ar  arpathu 
e. Answer not known 
„fs;sj;jpd; Cr;Rk; Runkd;gh; fhjyh;‟ –  
cs;sk; glh;e;j newp – ghly; thp ,lk; ngw;wJ 
a. fstop ehw;gJ   b. jpUf;Fws; 
c. Ie;jpiz Ik;gJ   d. fhh; ehw;gJ 
e. tpil njhpatpy;iy 
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95. _______ is the welfare body which is working for the holistic empowerment 

of women in cutting across all the sectors. 
a. State Resource Centre for Women 
b. State Commission for Women 
c. One Stop Crisis Centre 
d. State Organisation for Women 
e. Answer not known 
midj;J jug;G ngz;fspd; KOikahd Nkk;ghl;bw;fhf gzp nra;Ak; ey 
mikg;G 
a. khepy ngz;fs; ts ikak;  b. khepy kfsph; Mizak; 
c. xUepiy neUf;fb ikak;  d. khepy ngz;fs; rq;fk; 
e. tpil njhpatpy;iy 
 

96. Who is the Father of Indian Renaissance? 
a. Raja Ram Mohan Roy   b. David Hare 
c. Ishwar Chandra Vidyasagar  d. Rabindra Nath Tagore 
e. Answer not known 
,e;jpa kWkyh;r;rpapd; je;ij ahh;? 
a. uh[h uhk; Nkhfd; uha;   b. Nltpl; `Nu 
c. <~;th; re;jpu tpj;ahrhfh;  d. ugPe;jpu ehj; jh$h; 
e. tpil njhpatpy;iy 
 

97. In what time will Rs. 5,600 amount to Rs. 6,720 at 6% per annum? 

a. 2 years  b. 4 years  c.  
 

 
 years  d.  

 

 
 years 

e. Answer not known 
&. 5,600 f;F 6% tl;b tPjk; vj;jid Mz;Lfspy; &. 6,720 fpilf;Fk;? 

a. 2 Mz;Lfs;  b. 4 Mz;Lfs;  c.  
 

 
 Mz;Lfs;   

d.  
 

 
 Mz;Lfs; e. tpil njhpatpy;iy 

 
98. A sum of money is to be distributed among A, B, C, D in the proportion of   

5 : 2 : 4 : 3. If C gets Rs. 1,000 more than D. What is B‟s share? 
a. Rs. 1,000  b. Rs. 3,000  c. Rs. 2,000  d. 4,000 
e. Answer not known 
A, B, C, D vd;gth;fs; xU Fwpg;gpl;l njhifia 5 : 2 : 4 : 3 vd;w tpfpjj;jpy; 
gq;fpLfpd;wdh;. ,jpy; C vd;gth; D I tpl &. 1,000 mjpfk; ngWfpwhh; vdpy; 
B d; gq;F vd;d? 
a. Rs. 1,000  b. Rs. 3,000  c. Rs. 2,000  d. 4,000 
e. tpil njhpatpy;iy 
 

99. How many ways can you answer five TRUE or FALSE questions? 
a. 10   b. 5   c. 25   d. 32 
e. Answer not known 
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rhpah? jtwh? $Wf vd 5 Nfs;tpfs; ,Uf;fpd;wd. ,e;j 5 Nfs;tpfSf;Fk; 
nkhj;jkhf vj;jid tpjkhd gjpy;fs; juKbAk;? 
a. 10   b. 5   c. 25   d. 32 
e. tpil njhpatpy;iy 
 

100. 210 men working 12 hours a day can finish a job in 18 days. How many men 
are required to finish the same job in 20 days working 14 hours a day? 
a. 160   b. 162  c. 164   d. 169 
e. Answer not known 
210 Mz;fs; ehnshd;Wf;F 12 kzp Neuk; Ntiy nra;J xU Ntiyia 18 
ehs;fspy; Kbg;gh;. mNj Ntiyia ehnshd;Wf;F 14 kzp Neuk; Ntiy 
nra;J 20 ehl;fspy; Kbf;f vj;jid Mz;fs; Njit  
a. 160   b. 162   c. 164   d. 169 
e. tpil njhpatpy;iy 

 
 


